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1.1 2(4x – 5)  = 3x 
8x – 10 = 3x 
8x – 3x  = 10 
5x  = 10 
X  = 2 

tpil (1) 

1.2 A = P(1 + r)n  

P = 140,000  r = 0.09 n = 2 
A = 140,000 x 1.092 
A  = 166,340         

  tpil (3) 

 
    

1.3 P1/0 = 30 / 22   x 100 
= 136.36% 
= 136% 

tpil (2) 

1.4 tpil (2) 
 

1.5 tpil (1) 
 

1.6 TC  = q2 – 20q +100 
dTC / dq = 2q – 20 
MC  = 2q – 20 

tpil (3) 

 



1.7 12 gapYeu;fspdJk; nkhj;j epiw    = 12 x 52 

= 642 kg 

12 gapYeu;fs; kw;Wk; KfhikahsupdJk; nkhj;j epiw  = 13 x 53.5 

= 695.5 kg 

Kfhikahsupd; epiw      = 695.5 – 642 

= 71.5 kg 
tpil (4) 

 

1.8 nrg;gdplg;gl;l kPbwd;    = tFg;ghapil x  nghJthd tFg;gpd; gUkd; 
  cz;ikahd tFg;G gUkd; 

75        =  25 / 5     x    nghJthd tFg;gpd; gUkd; 

ghJthd tFg;gpd; gUkd; =  15 

x  = 30 x 15/10  = 45 

Y  = 15 x 15/15 = 15  

tpil (1) 

1.9 480 / 1.1     +      480/1.21    +      480/1.331    

= &. 1,193,688.95           tpil (3) 

 

1.10 1000 x 0.05 = 50.00 

250 x 0.03 = 7.50 

50 x 0.02 = 1.00 

0 x 0.90 = 0.00 

guprpy; xd;wpdJ vjpu;Tg; ngWkhdk; = 58.50 
tpil (3) 

1.11 FLk;gnkhd;W njhiyf;fhl;rpnahd;iwf; nfhs;tdT nra;tjw;Fj; 

jpl;lkpl;bUe;jikf;fhd epfo;jfT =  0.25 (250/1000) 

1.12 FLk;gnkhd;W Vw;fdNt njhiyf;fhl;rpiaf; nfhs;tdT nra;aj; jpl;lkpl;bUe;jJ vdj; 

jug;gLk;NghJ mf;FLk;gkhdJ cz;ikahfNt njhiyf;fhl;rpiaf; nfhs;tdT 

nra;jikf;fhd epfo;jfT =  0.80 (200/250) 

1.13 FLk;gnkhd;W cz;ikahfNt njhiyf;fhl;rpiaf; nfhs;tdT nra;jikf;fhd 

epfo;jfT = 0.30  (300/1000) 

1.14 $w;W cz;ikahdJ. 

1.15 $w;W cz;ikahdJ. 



(a) R(x)  = p(x) 

R(x)  = (-2x + 500) (x) 

R(x)  = -2x2 + 500x             (02 Gs;spfs;) 

 

(b) ,yhg – el;lkw;w myfpy;> 

TR   = TC 
-2x2 + 500x  = 300x + 450 
X2 100x + 2400 = 0 
(x – 60)(x – 40) = 0 
X = 60 my;yJ x = 40 
vdNt ,yhg – el;lkw;w myfpy; vz;zpf;if 40 my;yJ 60 

(02 Gs;spfs;) 

 
(c) ,yhgr; rhu;G (P) 

P(x)  = R(x) – C(x) 

P(x)  = (-2x2 + 500x) – (300x + 4800) 

P(x)  = -2x2  + 200x - 4800             (02 Gs;spfs;) 

 

(d)     R(x)  =  -2x2 + 500x 

MR  =  dP / dx 

MR  =  - 4x + 500 

C(x)  =  300x + 4800 

MC  =  300 
   crr; ,yhgk; 
 MR  =   MC 
 -4x + 500 = 300 
 4x  = 200 
 X  = 50 
 
crr; ,yhgk; ngwg;gLk; cw;gj;jp myFfspd; vz;zpf;if 50 

(03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 



(a)  
epak tpyfy;   =            Ʃ X2  -     Ʃ X      2 

       n           n 
 

 epak tpyfy;  =            605   -     61      2 
       8            8 
 
    =           4.18 

(03 Gs;spfs;) 

 

(b) (i) 
r =           nƩ xy – Ʃ x  Ʃ y 

  
           (nƩ x2 -(Ʃ x) 2) (nƩ y2  -  (Ʃ y) 2) 
   

   =         8 x 1279 – 61 x 128 
 
          (8 x 605 - 612) (8 x 2724 - 1282) 
 

   =         10,232 – 7,808 
 
          (4,840 – 3,721) (21,792 – 16,384) 
 

   =         2,424 
 
                1,119 x 5,408 
 

=         2,424 
 
                6,051,552 
 

=         2,424 
 
                 2,459.99 
 
   =         0.98 

(05 Gs;spfs;) 
 

(ii)  tpsk;gur; nryT kw;Wk; tpw;gid tUkhdq;fSf;fpilapy; tYthd Neu;kiwj; 
njhlu;G cs;sJ. 

(02 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 



(a)     

b  =           nƩ xy – Ʃ x . Ʃ y 

  
                   (nƩ x2 -(Ʃ x) 2)  
    

    =         5 x 27,498  - 373 x 362 
 

   (5 x 29,385 – 3732)  
 

= 137,490 – 135,026 
 
     146,925 – 139,129 
 

= 2,464 
 
     7,796 
 

b  = 0.3161 

   a = y -   b x 
 

   a = 72.4 – 0.3161 x 74.6 
   a = 48.8220 

(07 Gs;spfs;) 
gpw;nryTf; NfhL 

   Y = 48.8220 + 0.3161x 
  

 

  (b)  when  x = 85 

 Y = 48.8220 + 0.3161 x  85 

  = 75.6870 

 

gapw;rp epfo;tpy; 76 Gs;spfs;  
 (03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 



(a)      A = P(1 + r)n A = 107180,    P = 50000,     n = 6  
107,180  = 50,000 ( 1 + r /100) 6 

 

(107,180 / 50,000) 1/6  -1 = r / 100 
     
 1.1355 – 1   = r / 100  

   r = 13.55% 
(03 Gs;spfs;) 

 
 
 

(b)  (i)                    (&. ‘000) 
 

tUlq;fs; fhR 
cl;gha;r;ry; 

fopTf;fhuzp ,w;iwg; 
ngWkjp 

,w;iwg; 
ngWkjp 

0 (500)  -500 -500 

1 200 1/1.111 or       0.9009 180.18 180.18 

2 180 1/1.112 or       0.8116 146.092 146.088 

3 150 1/1.113 or       0.7312 109.679 109.68 

4 50 1/1.114 or       0.6587 32.937 32.935 

5 10 1/1.115 or       0.5935 5.935 5.935 

 NPV -25.177 -25.182 

 
(06 Gs;spfs;) 

 

      (ii)   ,e;jr; nraw;wpl;lj;jpidr; rpghupR nra;a KbahJ. (NPV MdJ vjpu;kiw ngWkjp) 

(01 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 



(A)    6x + 2y  =40   ---------- 1 
3x + 5y  =40   ---------- 2 

 2 x 2  6x + 10y =80   ---------- 3 

3 - 1  8y  =40 

  y  =5 

 

y=5     2 ,y; 

   3x + 25  =40 

    3x =15 

      x = 5 

(04 Gs;spfs;) 
 

(B)     

q0 q1 P0 P1 q1P0 q0 P0 

10 15 1,000 1,200 15,000 10,000 

5 8 2,000 2,500 16,000 10,000 

100 120 500 550 60,000 50,000 

    91,000 70,000 

 

,yh];ngaupd; fzpar;Rl;b  =                Ʃ q1P0      x 100 
       Ʃ ( P0 x  q0 )     

     =  91,000   x  100 

       70,000 

=  130% 

(05 Gs;spfs;) 



(C) (a)  

x P(x) X2.P(x) 

0 0.2 0 

1 0.4 0.4 

2 0.3 1.2 

3 0.1 0.9 

 1.0 2.5 

 
E(x) = x.P (x) = 1.3 

(03 Gs;spfs;) 

 
(b) V(x) =    Ʃ x2 .P(x)  - E(x)2 

 =    2.5  - 1.69 
 =             0.81  

(03 Gs;spfs;) 

 

(D) 

tUlk; cw;gj;jp (‘000) tUl efUk; 
ruhrupfs; 

Nghf;F 

2010 70 --- ---- 

2011 74 233 77.67 

2012 89 251 83.67 

2013 88 261 87.00 

2014 84 261 87.00 

2015 89 273 91.00 

2016 100 --- --- 

 
(05 Gs;spfs;) 

(nkhj;jk; 20 Gs;spfs;) 

 




